

WARMUP

$$1) \int x^3 e^{2x} dx$$

$$19) \int \frac{\ln x}{x^2} dx = \int x^{-2} \ln x dx = \ln x \left(-\frac{1}{x}\right) - \int \left(-\frac{1}{x} \cdot \frac{1}{x}\right) dx$$

$$u = \ln x$$

$$dv = x^{-2} dx$$

$$du = \frac{1}{x} dx$$

$$v = \frac{x^{-1}}{-1} = -\frac{1}{x}$$

$$-\frac{\ln x}{x} + \int x^{-2} dx$$

$$= -\frac{\ln x}{x} + \frac{x^{-1}}{-1} + C$$

$$= -\frac{\ln x}{x} - \frac{1}{x} + C$$

$$= \frac{-\ln x - 1}{x} + C$$

Section 7.3 Table of Integrals

$$\underline{\text{ex:}} \int \sin(7x) \sin(3x) dx$$

$$b^2 - a^2 = 3^2 - 7^2 = 9 - 49 = -40$$

$$\#10) \int \sin(ax) \sin(bx) dx = \frac{1}{b^2 - a^2} [a \cos(ax) \sin(bx) - b \sin(ax) \cos(bx)] + C$$

$$= -\frac{1}{40} [7 \cos(7x) \sin(3x) - 3 \sin(7x) \cos(3x)] + C$$

ex: $\int (x^2 - 3x + 2) e^{3x} dx$ $\leftarrow a=3$

#14) $\int p(x) e^{ax} dx = \frac{1}{a} p(x) e^{ax} - \frac{1}{a^2} p'(x) e^{ax} + \frac{1}{a^3} p''(x) e^{ax} - \dots$

$$= \frac{1}{3} (x^2 - 3x + 2) e^{3x} - \frac{1}{9} (2x - 3) e^{3x} + \frac{1}{27} 2 e^{3x} + C$$

$$= \frac{1}{3} (x^2 - 3x + 2) e^{3x} - \frac{1}{9} (2x - 3) e^{3x} + \frac{2}{27} e^{3x} + C$$

ex: $\int \sin^6 x dx$ $\leftarrow n=6$

#17) $\int \sin^n x dx = -\frac{1}{n} \sin^{n-1} x \cos x + \frac{n-1}{n} \int \sin^{n-2} x dx$

$$= -\frac{1}{6} \sin^5 x \cos x + \frac{5}{6} \int \sin^4 x dx$$

$$= -\frac{1}{6} \sin^5 x \cos x + \frac{5}{6} \left(-\frac{1}{4} \sin^3 x \cos x + \frac{3}{4} \int \sin^2 x dx \right)$$

$$= -\frac{1}{6} \sin^5 x \cos x - \frac{5}{24} \sin^3 x \cos x + \frac{5}{8} \int \sin^2 x dx$$

$$= -\frac{1}{6} \sin^5 x \cos x - \frac{5}{24} \sin^3 x \cos x + \frac{5}{8} \left(-\frac{1}{2} \sin x \cos x + \frac{1}{2} \int 1 dx \right)$$

$$\int \sin^6 x dx = -\frac{1}{6} \sin^5 x \cos x - \frac{5}{24} \sin^3 x \cos x - \frac{5}{16} \sin x \cos x + \frac{5}{16} x + C$$

Check: $\frac{d}{dx} \left[-\frac{1}{6} \sin^5 x \cos x - \frac{5}{24} \sin^3 x \cos x - \frac{5}{16} \sin x \cos x + \frac{5}{16} x + C \right]$

$$= -\frac{1}{6} \sin^5 x (-\sin x) + \cos x \left(-\frac{5}{6} \sin^4 x \cdot \cos x \right) - \frac{5}{24} \sin^3 x (-\sin x) + \cos x \left(-\frac{5}{8} \sin^2 x \cdot \cos x \right)$$

$$- \frac{5}{16} \sin x (-\sin x) + \cos x \left(-\frac{5}{16} \cos x \right) + \frac{5}{16} + 0$$

$$= \frac{1}{6} \sin^6 x - \frac{5}{6} \sin^4 x \cos^2 x + \frac{5}{24} \sin^4 x - \frac{5}{8} \sin^2 x \cos^2 x + \frac{5}{16} \sin^2 x - \frac{5}{16} \cos^2 x + \frac{5}{16}$$

$$= \frac{1}{6} \sin^6 x - \frac{5}{6} \sin^4 x (1 - \sin^2 x) + \frac{5}{24} \sin^4 x - \frac{5}{8} \sin^2 x (1 - \sin^2 x) + \frac{5}{16} \sin^2 x - \frac{5}{16} (1 - \sin^2 x) + \frac{5}{16}$$

$$= \frac{1}{6} \sin^6 x - \frac{5}{6} \sin^4 x + \frac{5}{6} \sin^6 x + \frac{5}{24} \sin^4 x - \frac{5}{8} \sin^2 x + \frac{5}{8} \sin^4 x + \frac{5}{16} \sin^2 x - \frac{5}{16} + \frac{5}{16} \sin^2 x + \frac{5}{16}$$

$$= \left(\frac{1}{6} + \frac{5}{6}\right) \sin^6 X + \left(-\frac{5}{6} + \frac{5}{24} + \frac{5}{8}\right) \sin^4 X + \left(-\frac{5}{8} + \frac{5}{16} + \frac{5}{16}\right) \sin^2 X$$

$$\quad \quad \quad \frac{-20}{24} + \frac{5}{24} + \frac{15}{24} \quad \quad \quad \frac{-10}{16} + \frac{5}{16} + \frac{5}{16}$$

$$= \sin^6 X$$

p308 2, 11, 15, 21, 26

$$\int x^3 e^{2x} dx = x^3 \cdot \frac{1}{2} e^{2x} - 3x^2 \cdot \frac{1}{4} e^{2x} + 6x \cdot \frac{1}{8} e^{2x} - 6 \cdot \frac{1}{16} e^{2x} + C$$

<u>sign</u>	<u>u</u>	<u>dv</u>
+	x^3	e^{2x}
-	$3x^2$	$\frac{1}{2} e^{2x}$
+	$6x$	$\frac{1}{4} e^{2x}$
-	6	$\frac{1}{8} e^{2x}$
+	0	$\frac{1}{16} e^{2x}$

$$= \frac{1}{2} x^3 e^{2x} - \frac{3}{4} x^2 e^{2x} + \frac{3}{4} x e^{2x} - \frac{3}{8} e^{2x} + C$$